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 Sample Question Paper |

Which cricketer of England is known with the his nick name “Beefy”?
(A) Brian Lara (B) Lan Botham

(C) Rohan Kanhai (D) Garry Sobers

(E) None of these

The 1% Tamil talkie film of India is .

(A) Nastik (B) Kalidas
(C) Ingilab (D) Don
(E) None of these

The football world cup 2010 was organized in which country?
(A) Britain (B) France

(C) Brazil (D) South Africa
(E) None of these

In which one of the following films Amitabh Bachchan did not act?
(A) Kayamat se Kayamat Tak (B) Silsila

(C) Namak Halal (D) Lawaris

(E) None of these

“Pandit Ji” and “Ek Bhartiya Aatma” was the nick name of a great Indian Poet whose
poem in Hindi “ Pusp ki Abhilasha” is still very popular. Name the poet.

(A) Mahadevi Verma (B) Harivansh Rai Bachchan

(C) Makhan Lal Chaturvedi (D) Jaishankar Prasad

(E) None of these

What is the minimum circumference of a soccer ball?

(A) 20inches (B) 26 inches
(C) 30inches (D) 27 inches
(E) None of these

Given below are statements regarding inventions and discoveries.
Choose the wrong statement.

(A) Richard Drew was a famous inventor

(B) Richard Drew belonged to USA

(C) Richard Draw invented artificial heart

(D) Richard Drew invented adhesive tape

(E) None of these
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When is Human Rights Day Celebrated?

(A) 10™ November (B) 20™ December
(C) 10™ December (D) 28™ March

(E) None of these

Dhaca was the old name of the capital of which country?

(A) Bhutan (B) Bangladesh
(C) Maldives (D) Mongolia
(E) None of these

A cricket ground is and there is no fixed dimension for it.

(A) Square shaped

(B) Rectangular shaped
(C) Circular or oval shaped
(D) Triangular shaped

(E) None of these

Who is the author of Arogya Niketan?
(A) Hazari Prasad Dwivedi

(B) Vibhuti Bhushan

(C) Ravindra Nath Tagore

(D) Tarashankar Bandhopadhyay

(E) None of these

Rajya Sabha, the Upper house of Indian parliament was constituted in the year

(A) 1955 (B) 1954
(C) 1952 (D) 1953
(E) None of these

What is the full form of SMS?

(A) Sure Message Service (B)  Short Message Service
(C) Safe Message Service (D) Short Management Service

(E) None of these

In which one of the following films Raj Kapoor did not work?
(A) Aawara (B) Aag

(C) Sri420 (D) Janzeer

(E) None of these

Name the author of the book ‘A Life in our Times.

(A) John Kenneth Galbraith (B) C.P.Snow
(C) Gunnar Myrdal (D) Edward Hale
(E) None of these
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Name the person who gave the slogan “Sarfaroshi ki tamanna ab hamare dil me hai”.
(A) Ram Prasad Bismil
(B) Jawaharlal Nehru
(C) Lal Bahadur Shastri
(D) Tatya Tope
(E) None of these

In the game of Basketball, what is the height of the basket?

(A) 12 feet (upper age) (B) 10 feet (upper edge)
(C) 12 feet (lower age) (D) 10 feet (lower age)
(E) None of these

Name the first identified variable star.

(A) Rohini (B) Apple

(C) Mira (D) Bhaskara

(E) None of these

On American colonies got independence from Great Britain.
(A) 4™ July, 1773 (B) 4™ July, 1776

(C) 4™ July, 1778 (D) 4™ TJuly, 1779

(E) None of these

Which one of the following countries produces maximum number of films in a year?
(A) India (B) USA

(C) UK (D) Russia

(E) None of these

“Gabbar” hasbeen a very famous character of Indian movie since 1975. Gabbar is the char
acter of which film?

(A) Sholay (B) Trishul

(C) Mughal-E-Aazam (D) Deewar

(E) None of these

“Dunk” is a term used in .

(A) Hockey (B) Basketball
(C) Cricket (D) Soccer
(E) None of these

Give the birth date of Babar, the 1** Mughal Ruler of India.
(A) 14" February, 1461

(B) 21 February, 1456

(C) 11" February, 1486

(D) 23" February, 1483

(E) None of these
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Supernova takes place in space. What is it?
(A) ABurn

(B) An Explosion

(C) Breaking of asteroids

(D) A Collision

(E) None of these

Thereis a place in UP, India where Lath Mar Holi is very popular during the celebration of

holi festival. In which part of UP is it seen?

(A) Mathura (B) Betiya
(C) Alwar (D) Hisar
(E) None of these

Which Indian singer is known as “ Swar Kokila”?

(A) Sunidhi Chauhan (B) Lata Mangeskar

(C) Sherya Ghosal (D) Usha Uthup
(E) None of these

Which is the most southerly test match ground of England?
(A) The Lords (B) The Oval
(C) The Veears (D) The Lyra
(E) None of these

Which acid is normally found in lemon and grape fruits?

(A) Citric acid (B) Tartaric acid
(C) Sulphuric acid (D) Lactic acid
(E) None of these

When did the first Battle of Panipat take place in India?
(A) 326B.C (B) 1192A.D
(C) 1526 A.D (D) 1857 A.D
(E) None of these

Which planet has the longest day and the shortest year?
(A) Mars (B) Jupiter
(C) Mercury (D) Uranus
(E) None of these

Which is the smallest independent country in the world?
(A) Canada

(B) Russia

(C) South America

(D) Vatican City

(E) None of these
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Which gas is used as fire extinguisher?

(A) Carbon dioxide (B) Carbon monoxide
(C) Carbon suboxide (D) Suphur dioxide
(E) None of these

Who among the following is a Hindustani Classical singer?

(A) Geeta Chandran (B) Leela Samson
(C) Gangubai Hangal (D) Swapna Sundari
(E) None of these

Doctors Day is observed on .
(A) Junel (B) July1
(C) Augl (D) Sepl
(E) None of these

Which one of the following is the longest railway platform in the world?
(A) Kharagpur (B) Kanpur

(C) Leningrad (D) Tokyo

(E) None of these

Mettur Dam is built on the river .

(A) Krishna (B) Cauvery
(C) Narmada (D) Mahanadi
(E) None of these

The filament of bulb is made up of:

(A) Tungsten (B) Iron
(C) Nichrome (D) Carbon
(E) None of these

Bishop Desmond Tutu is the native of .

(A) South Africa (B) Cuba
(C) Tanzania (D) Zambia
(E) None of these

The Islam was established in:

(A) 7" AD. (B) 5"A.D
(C) 34B.C. (D) 5"B.C.
(E) None of these

Which one of the following rivers does not form any delta at its mouth?
(A) Cauvery (B) Mahanadi

(C) Godavari (D) Tapti

(E) None of these
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National Institute of Oceanography is located in:

(A) Kolkata (B) Chennai
(C) Mangalore (D) Panji
(E) None of these

In which one of the following cities Gateway of India is situated?
(A) Delhi (B) Mumbai

(C) Pune (D) Chennai

(E) None of these

Canary Islands belong to:

(A) Norway (B) Spain
(C) New Zealand (D) Portugal
(E) None of these

The President of U. N. General Assembly is elected for a period of
(A) Five years (B) Two years

(C) One year (D) Three years

(E) None of these

Which one of the following harbours is considered as the world’s best natural harbour?
(A) Sydney harbour (B) Toronto harbour

(C) New Jersey harbour (D) Singapore harbour

(E) None of these

The life span of human WBC is approximately:

(A) Less than 20 days (B) Between 20 to 30 days
(C) Between 2 to 3 months (D) Less than 10 days

(E) None of these

In the year 2010 who is the tallest man in the world?

(A) Khali (B)  Sultan Kosen
(C) John William Rogan (D) William Bradley
(E) None of these

Kuchipudi is the classical dance of which one of the following states?
(A) Karnataka (B) Kerala

(C) Tamilnadu (D) Andhra Pradesh
(E) None of these

A light sensitive compound used in photography is .
(A) Silver chloride (B) Silver sulphide
(C) Silver bromide (D) Silver oxide
(E) None of these
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Patna
Kochi

(B)
(D)

(A) New Delhi
(E) None of these

50. The 2013 Pravasi Bhartiya Divas was held in which one of the following cities?
(C) Kolkata

=

=[Note: The actual Question Paper will translated in Hindi at the time of exam.

Darken your choice with HB Pencil
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